(Al 1)

SH4EE FEREKEHZREE (ZH) BN EER—IL
BRI AEER ([5])
TE- - FIHER (%)
483 | 58|68 7TH| 8A | 9A |10HI11H 124 1A | 2A | 34 &
FIJ A AT RE I () 360 372/ 360| 372 372| 360/ 372| 360 324 336/ 336/ 372| 4,296 [A]
43 31 36 38 39 34 32 41 30 30 32 33 419
H1EHEEA |
47.8| 83.3| 40.0| 40.9| 41.9] 37.8/ 0.0/ 45.6| 37.0| 35.7 38.1 35.5 39.0 %
e 34 26 30 33 32 33 34 40 30 30 35 40 397 [A]
F1E2EED
37.8| 69.9] 33.3| 35.5| 34.4/ 36.7| 36.6| 44.4| 37.0| 35.7| 41.7 43.0 37.0 %
e ;e 52 54 50 55 48 55 52 63 50 51 54 54 638 [H]
B 2 Rk
57.8| 145.2| 55.6| 59.1| 51.6/ 61.1| 55.9/ 70.0| 61.7| 60.7| 64.3 58.1 59.4 %
o 20 19 17 45 46 24 40 42 19 20 19 32 343 [A]
22.2| 51.1) 18.9| 48.4| 49.5 26.7| 43.0| 46.7| 23.5| 23.8| 22.6/ 34.4 31.9 %
o 0 [a]
0.0 %
0 [a]
4
0.0 %
0 [a]
0.0 %
0 [a]
0.0 %
0 [a]
0.0 %
0 [a]
0.0 %
149, 130/ 133 171| 165 146/ 158/ 186 129| 131, 140/ 159 1,797 [H]
= i
41.4) 34.9| 36.9| 46.0 44.4| 40.6| 42.5| 51.7| 39.8| 39.0 41.7 42.7 41.8 %
FIFATRE A % () 30 31 30 31 31 30 31 30 27 28 28 31 358 H
FIFBE% (H) 30 29 27 31 29 30 30 30 27 27 28 31 349 H
FIHZE (%) 100.0/ 93.5| 90.0| 100.0| 93.5| 100.0| 96.8| 100.0| 100.0| 96.4| 100.0| 100.0 97. 5%
xR A FTREEIE = 1 » H OBIfE B % X EHHERE X K4 (Fai. k. KD

(2 7HREI~30HM

(4 fit g%

kFIHARER$c=1 » A OBfE B4 (& —FAfE B %)
(2 7HRI~30HM)

(3 X457)

X B
(45)




FARREHREE (ZH)

BT ReER—IL

BB SRR (8]
TE AR (%)

AR 5H| 6H | 7H | 8H| 9H |10A|[11A12A 1A |2A|3A| & &
FII A mTRERE 2K (8]) 720 744| 720 744| 744| 720| 744| 720 672| 672| 672| 744| 8,616 [A]
16/ 15 15 11 9 20 16 20 14 6| 16 9 167
ZBEWR—ILA =l
17.8) 16.1| 16.7| 11.8| 9.7| 22.2 17.2\ 15.1| 6.7/ 19.0/ 10.7| 9.7 15.5 %
59| 52 53 45| 52 48| 62 50| 51| 49| 49| 60| 630
4 BHIFR—/ILB =l
65.6| 55.9| 58.9| 48.4| 55.9| 53.3 66.7‘ 54.8| 54.4| 58.3| 71.4]| 64.5 58.5 %
- L 211 21 21 241 19 291 21 22 15 18| 17| 27| 255 [H]
B1aEE
23.3] 22.6| 23.3| 25.8] 20.4| 32.2| 22.6| 16.1| 20.0] 20.2] 32. 1| 29.0 23.7 %
- L 221 13 16 14] 16 12 16 16 11 71 13] 10| 166 [H]
B oREE
24.4| 14.0| 17.8| 15.1| 17.2| 13.3| 17.2| 11.8| 7.8] 15.5| 11.9| 10.8 15.4 %
. 22 8 6 9 11 10 42 39 15 3 9 13 187 [H]
3 mH=
- 24.4| 8.6/ 6.7/ 9.7| 11.8| 11.1| 45.2| 16.1| 3.3] 10.7| 15.5| 14.0 17.4 %
11 3 2 32 15 12 12 3 15 1 15 6 127
KAR—)L =
4 12.2] 3.2| 2.2| 34.4| 16.1 13.3| 12.9| 16.1| 1.1| 17.9| 7.1 6.5 11.8 %
8 2 1 7 2 8 6 1 13 0 3 6 57 [H]
IR
8.9/ 2.2 1.1] 7.5/ 2.2/ 8.9 6.5 14.0| 0.0/ 3.6/ 7.1| 6.5 5.3 %
8 3 7 4 3 7 6 1 13 0 5 7 64 [A]
WA R
8.9/ 3.2 7.8/ 4.3] 3.2/ 7.8 6.5/ 14.0/ 0.0/ 0.0/ 6.0/ 7.5 5.9 %
0 [H]
0.0 0.0/ 0.0/ 0.0/ 0.0/ 0.0/ 0.0/ 0.0/ 0.0/ 0.0 0.0 0.0 0.0 %
0 [A]
0.0 0.0/ 0.0/ 0.0/ 0.0/ 0.0/ 0.0/ 0.0/ 0.0/ 0.0 0.0 0.0 0.0 %
0 [A]
0.0 0.0/ 0.0/ 0.0/ 0.0/ 0.0/ 0.0/ 0.0/ 0.0/ 0.0 0.0 0.0 0.0 %
167 117 121 146| 127 146| 181| 152| 147 84| 127| 138] 1,653 [A]
& @
5]
23.2] 15.7| 16.8| 19.6| 17.1| 20.3| 24.3| 21.1| 21.9] 12.5| 18.9| 18.5 19.2 %
FIFPREH % (H) 30 31 30 31 31 30 31 30 28 28 28 31 359 H
FIHB# (H) 30 30 31 31 29 28 31 30 27 27 27 31 352 H
FIHZE (%) 100.0| 96.8| 103.3| 100.0| 93.5| 93.3|100.0[100.0| 96.4| 96.4| 96.4/100.0| 98. 1%

kMM ATREIRI S = 1 » H OPBRfE H %

(2 7HME~31HM)

X RBiisE <X Koy (CFAl R, &R

(8 M

*FAFRERE =1 » A OB % (& —FAfE %)
(2 7HREI~31HM)

(3X57)




A
T

MaEE ARARIEHREE (E5)

LA EER—IL

BB SRR (8]
TE AR (%)

AR5 6H| 7H|8A|9H10H11ALI2H 1A 2H|3H]| & it
FIF ATgEE % (Ia]) | 360 372| 360 372| 372 360| 372 360| 324| 336 336/ 372| 4,296 [A]
. . 241 25| 29 23| 22| 29| 23] 22| 20/ 23 22| 30 292 [A]
B1oEE
26.7| 26.9| 32.2| 24.7| 23.7| 32.2| 24.7| 24.4| 24.7| 27.4| 26.2| 32.3 27.2 %
. . 26/ 33| 40 35| 34| 34| 34| 34| 34| 30| 34| 36 404 [A]
B oREE
98.9| 35.5| 44.4| 37.6| 36.6 37.8| 36.6| 37.8| 42.0| 35.7| 40.5| 38.7 37.6 %
. 13 19| 15 16| 13/ 16/ 12 12| 24, 10/ 11| 14 175 [A]
KEFEE
14.4| 20.4| 16.7| 17.2] 14.0| 17.8] 12.9] 13.3| 29.6| 11.9] 13.1| 15. 1 16.3 %
3 4 7 28| 28 6 5 19 6 5 8 8 127
KAR— )L =
3.3 4.3| 7.8/ 30.1/30.1 6.7 5.4 21.1| 7.4, 6.0, 9.5 8.6 11.8 %
=
%
66/ 81| 91| 102| 97| 85| 74| 87| 84| 68 75 88 998 [A]
= H
18.3] 21.8| 25.3| 27.4] 26.1| 23.6| 19.9| 24.2| 25.9| 20.2| 22.3| 23.7 23.2 %
FIFHATRE H 4% (H) 30| 31| 30 31| 31| 30| 31| 30 27| 28/ 28 31 358 H
FIAB% (B) 221 23] 26 27| 26| 25| 24| 28| 25| 24| 24| 26 300 H
FIAZE (%) 73.3| 74.2| 86.7| 87.1| 83.9| 83.3| 77.4| 93.3| 92.6| 85.7| 85.7| 83.9 83. 8%
<RI ATREEE =1 » H OB A% X BHREEE X XK (Rl k. KED

(2 7HRI~30HM)

X FAFRERS=1» A OBRER % (B—HfE )
(2 7HREI~30HM

(4 Sz

(3 1X57)

X ==

(4%)




SHAEE FARKRBREE () RENER—IL
BRI A EE (8])
FEr- - FUHE (%)
4l 58 64 7A 1 8A 9 1011 A12A 18| 24 | 38| & =t
o FIREREC | 450l 465| 4500 465! 465 450| 465 450 405| 420 420 465| 5,370 [
- 20 23 28] 230 21| 220 28] 270 20| 20 21 25| 278 m
PN
R 22.21 24.7| 31.1| 24.7| 22.6| 24.4| 30.1| 30.0| 24.7| 23.8]25.0%| 29. 8% 25. 9%
. 31 340 41| 36 31| 39 42| 36 20 24/ 24/ 33| 100 m
PN
R 34.4| 36.6| 45.6| 38.7| 33.3| 43.3| 45.2| 40.0| 35.8| 28.6|28.6%| 39. 3% 37. 2%
- o8 25/ 29| 30/ 23| 26/ 28] 33 27 27/ 26 29| 331 |
WHE= 0 0 0
31.1 26.9| 32.2| 32.3| 24.7| 28.9| 30.1| 36.7| 33.3] 32.1|31.0%| 34.5% 30. 8%
. 95/ 190 22| 270 20| 23] 27| 38/ 26| 24/ 27 26| 304 m
WHE= 0 0 0
27.8| 20.4| 24.4| 29.0| 21.5| 25.6| 29.0| 42.2| 32.1| 28.6|32.1%| 31.0% 28. 3%
[z 100 6 10 31 21 7 28 10/ 10| 6 11 e 156 [l
A= 11.1 6.5 11.1| 33.3| 22.6 7.8 30.1| 11.1| 12.3 7.1 13. 1% 7.1% 14. 5%
£
.| 14 107) 130 147 116 117 153 144) 112) 101 109 119 1,469 [
& 3
25.3| 23.0| 28.9| 31.6| 24.9| 26.0| 32.9| 32.0| 27.7| 24.0|26.0%| 25. 6% 27. 4%
T'g?ﬂﬁbw‘ 300 310 30/ 31l 31| 30 31 30 27 28 28 31| 827 A
FMAA% (| 28 26/ 30 30 26 27 28 28 24| 24 27/ 30| 295 H
FIAZE (%) | 93.3| 83.9/100.0| 96.8| 83.9| 90.0| 90.3| 93.3| 88.9| 85.7|96.4%| 96. 8% 90. 2%
kFHFIREREIZ = 1 » A ORHAE H %k X B X K4y (Gl Tk, &)
(2 7HM~30HM) 5 %) (3X473)

* MM rRE A 8= 1 » H OBE B % (& —PHfE B %0




HH5(2023)FEE FIFKRIEE (ER) HHESE

Call#E1-1)

A E 48 | 5B | 6A | 7B | 88 | 9B | 108 |11A | 128 | 1A | 28 | 3H & &

F| AR =] gE A #([a]) 360 372| 360| 372] 372| 360| 372| 360 324| 336| 348 372| 4308 @

4B 13 16 14 18 18 16 12 19 13 15 16 19 189 [@

g | 5% 8 10| 10 7 9 9 8 10 6 7 8| 12| 104m

% NE 2 12 6 5 7 6 9 5 5 6 7 7 77 |

= | £H 1 0 1 0 0 1 0 1 0 1 1 2 8 [

= INEL 24 38 31 30 34 32 29 35 24 29 32 40 378 [

FI = 26.7| 409| 344 323| 366| 356| 312 389 296 345 368 430 351 %

ST 8 14 11 1 9 8 14 12 7 10 11 15 130 [H

%,\ i 9 17 18 11 15 8 21 16 13 16 16 17 177 [@

1@ 5 | =M 1 9 7 7 8 4 12 5 6 6 6 7 78 |

T £H 1 0 1 0 0 1 0 1 1 1 1 1 8 [a]

= INET 19 40 37 29 32 21 47 34 27 33 34 40 393 [g]

FFEE 211 430, 411| 312| 344/ 233| 505 378 333] 393| 391| 430 365 %

I 14 25 22 20 17 23 17 24 17 26 22 16 243 [

£ Fi& 17 20 21 19 18 16 15 20 17 20 18 18 219 =

i &R 11 15 13 9 14 18 16 13 10 12 13 10 154 [g]

= | %28 0 0 0 0 0 0 0 0 0 0 0 0 0m

= INET 42 60 56 48 49 57 48 57 44 58 53 44 616 [l

llEES 46.7| 645/ 622| 516/ 527| 633| 516 633 543| 690/ 609 473 57.2 %

Ll 3 10 17 4 12 14 9 9 14 7 10 11 120 [

Fi& 7 7 7 6 9 3 15 11 10 5 7 11 98 [a

T i 1 3 3 1 3 2 2 4 0 3 6 5 33 [@

I £H8 1 0 0 7 11 0 1 0 0 0 2 0 22 @

INET 12 20 27 18 35 19 27 24 24 15 25 27 273 [

5 FIRZE 133| 215 300 194| 376 21.1 290| 267| 296 179 287 290 253 %

=] Lo 0

F F# 0=

M ®wE 0=

£H 0 [

INET 0=

FIFAE 0.0 %

Rl 0 [\

Fi& 0 [E

wE 0 [H

=H 0 [

INET 0ME

FAE 00 %

i 0 [H

& |

' di| 0 [=]

<H 0 [f

INET 0 [=]

FIFAE 0.0 %

a1l 0 [H

Fi& 0 [=

il 0 [A]

£H 0 [

INET 0ME

FAE 0.0 %

&5t 97 158 151 125 150 129 151 150 119 135 144  151] 1,660 @

FFHZE 269| 425/ 419| 336| 403| 358| 406 41.7| 367 402| 414| 406 385 %

FARBEH£U(B) 30 31 30 31 31 30 31 30 27 28 29 31 359 B

FERBRE(A) 30 31 29 31 29 30 31 30 26 27 29 31 354 H

FIFZE (%) 100.0| 1000| 96.7| 1000| 935/ 1000| 100.0| 100.0| 96.3| 96.4| 1000| 1000 98.6%
*FIRATTREERH=1-AOMEERY x HHESRH x X2 GFE. 5%, ®E)

(27HR[E~318M)

(27 HfE~318/)

ATEER)
*FAARRBHE=1,ADFEER(BE-FEEH)
(4%)

BE%R)
x EH




SH5(2023)FE FIAKRBEE (ER) BFHE

(Bll#E1-1)

H E 48 | 5A | 6A | 7H | 8B | 9B |10B | 11B[12A] 1B | 28 | 3R & &
HEEEIEEEUE)) 720 744 720 744 744 720 744 720 648 672 696 744 8,616 [@
% R8T 7 7 7 8 8 7 7 7 9 6 7 8 88 [@l
B~ | F& 3 5 4 4 1 3 4 5 5 3 4 5 46 [A]
i3] A i 0 1 1 1 0 0 0 2 0 0 1 1 7 [
"~ | £H 0 3 0 0 0 0 3 3 0 0 3 0 12 [@
| INEF 10 16 12 13 9 10 14 17 14 9 15 14 153 [
s FIFRZE 11.1 17.2| 133 14.0 9.7 11.1 15.1 18.9 17.3 10.7 17.2 15.1 142 %
£ i 19 14 17 21 16 18 17 14 15 15 17 18 201 [g]
BE~ | F# 28 25 23 24 24 26 22 23 23 24 21 23 286 [@]
&'~JB *wHE 14 16 13 12 14 15 16 17 11 15 17 12 172 [
B~ | £8 0 0 0 0 0 0 3 0 0 0 0 0 3 A
' INET 61 55 53 57 54 59 58 54 49 54 55 53 662 [4]
i ElGES 67.8| 59.1| 589 61.3] 581| 656/ 624 600/ 605/ 643] 632] 570 615 %
e Ll 4 3 8 8 3 6 6 4 7 3 1 6 59 [@]
i Fiz 10 6 13 12 10 11 8 10 9 10 8 12 119 [
l wRE 4 3 6 4 4 4 4 4 3 4 4 5 49 [a
‘% ENE] 3 3 0 12 0 0 0 0 0 0 0 0 18 [
= INE 21 15 27 36 17 21 18 18 19 17 13 23 245 [g]
FIAE 233| 161| 300 387 183| 233| 194| 200| 235] 202 149] 247 227 %
ik || 12 8 I 11 5 5 6 9 8 8 9 11 99 [g]
f ik 12 6 9 10 9 9 10 11 10 7 8 8 109 =]
iy ®E 3 1 2 0 0 0 0 0 1 0 1 0 8 [m]
Z‘; EN= 0 0 0 0 6 3 3 3 3 3 3 3 27 [
= INET 27 15 18 21 20 17 19 23 22 18 21 22 243 [q]
= FFHZE 30.00 16.1| 200 226 215 189 204| 256 272 214] 241] 237 226 %
qa . [ F= 18 5 5 3 2 1 6 7 8 4 10 6 75 [
F| ? ik 18 7 8 8 5 3 7 6 8 8 12 8 98 [@
H 2 el 0 1 1 1 0 0 1 2 0 1 1 1 9 [H
= £H 0 0 0 0 3 0 3 0 0 0 0 0 6 [@]
= INET 36 13 14 12 10 4 17 15 16 13 23 15 188 [g]
HEES 400| 140/ 156] 129/ 108 44| 183 167 198| 155/ 264 16.1 175 %
R8T 1 3 0 1 5 2 2 2 2 1 4 3 26 @
+ ik 1 3 0 3 1 1 3 1 3 1 4 4 25 [g]
’|‘ =R 1 0 0 1 0 0 0 0 3 3 0 2 10 @
" £H 0 0 0 24 0 0 9 0 0 0 3 0 36 @
e 3 6 0 29 6 3 14 3 8 5 11 9 97 [=]
FAE 3.3 6.5 00| 312 6.5 33| 151 3.3 9.9 6.0 126 9.7 9.0 %
L] 0 2 0 2 3 1 2 1 2 0 1 3 17 [@
£ Fi& 1 2 0 3 1 4 6 4 5 3 1 6 36 [@
1 il 0 0 0 0 0 0 0 0 0 0 0 1 1@
E-3 £H 0 0 0 0 0 0 3 0 0 0 0 0 3 @
= INET 1 4 0 = 4 5 11 5 7 3 2 10 57 [
FAE 1.1 43 0.0 5.4 43 5.6 11.8 5.6 8.6 3.6 2.3 10.8 53 %
0] 0 2 0 1 2 2 3 1 3 1 1 3 19 [@]
= ik 1 2 0 2 1 1 2 1 2 0 0 4 16 [@]
2 " 0 0 0 0 0 0 0 0 0 0 0 1 1@
= £H 0 0 0 0 0 0 3 0 0 0 3 0 6 @
= INEE 1 4 0 3 3 3 8 2 5 1 4 8 42 [@]
FIF 2= 1.1 43 0.0 3.2 3.2 33 8.6 2.2 6.2 1.2 46 8.6 39 %
=18 160 128 124 176 123 122 159 137 140 120 144 154] 1,687 @]
FAE 222| 172| 17.2] 237/ 165 16.9| 214 190| 216 179] 207 207 19.6 %
FIEAREEHE) 30 31 30 31 31 30 31 30 27 28 29 31 359 H
FEE(A) 30 30 29 30 30 30 30 28 27 27 27 29 347 B
FIAZE (%) 1000| 968 96.7] 96.8] 968 100.0] 96.8] 933] 1000| 96.4| 931 935 96.7%
*FIATREEHM=1sFOMERL x BHER x K29 FH. F%. %)
(27HRE~318M/) (8/E:%) (BE%)
*FIAREEE#=1AOREEHR(E—FERH) x =H
(27 B/ ~31HR) (8%)




FTH5Q02)NEE FAKRESE (ER) LEDE

(Al#E1-1)

A E 4F (5B | 6A | 7B | 88 | 9B |10 | 118 |12B | 1A | 28 | 38 & &t
Fi| FH =T g [m1 £k ([=0) 360 372| 360] 372| 372| 360| 372| 360 324 336| 348 372 4308 @
w | FHI 3 3 4 4 2 2 0 5 2 1 0 2 28 [
L & 9 7 9 7 7 8 10 7 7 6 8 9 94 [a]
l & 5 3 7 4 4 4 6 5 5 3 5 5 56 [
= | 28 0 0 0 0 0 0 0 0 0 1 1 1 3
= /et 17 13 20 15 13 14 16 17 14 11 14 17 181 [
il 189 140 222| 161| 140/ 156, 172| 189| 17.3| 131| 161] 183 16.8 %
. R 4 2 4 4 3 3 3 4 3 2 3 3 38 [q]
Ll ik 18 20 23 20 22 19 20 21 19 18 20 21 241 [@]
ﬁ = 18 20 19 20 21 19 20 20 19 18 20 20 234 [E]
= £A 0 0 0 0 0 0 0 0 0 3 3 3 9 @
= NGt 40 42 46 44 46 41 43 45 41 41 46 47 522 [l
FAE 444| 452 51.1| 473| 495| 456| 462| 500 506| 488 529| 505 485 %
i 8 4 4 4 4 4 4 6 4 4 4 4 54 @]
x F& 9 4 6 4 5 4 5 5 4 3 5 4 58 [g]
= ] 6 3 5 5 5 4 6 4 4 3 5 5 55 [g]
= A 3 0 0 0 0 0 0 0 3 3 0 0 9 [@
= INEE 26 11 15 13 14 12 15 15 15 13 14 13 176 [
FAE 28.9 11.8| 16.7| 140 151 133| 16.1 16.7| 185 155/ 16.1 140 16.3 %
H 0 2 0 5 5 2 0 2 2 3 2 7 30 @
& 1 3 1 6 1 2 0 2 3 4 2 6 31 @
T i 1 3 2 2 3 2 1 2 2 3 2 1 24 [
" £H 0 0 0 12 0 0 0 0 6 3 0 1 22 [g]
INET 2 8 3 25 9 6 1 6 13 13 6 15 107 [=]
] M= 2.2 8.6 33| 269 9.7 6.7 1.1 6.7 160 155 69| 16.1 99 %
o a1 0@
F F#& 0 E
H =R 0=
£H 0 [l
INET 0 [
ElGES 00 %
;1] 0 =]
Fi& 0 =
A 0|
E=) 0 A
INET 0 [
FIAE 00 %
I 0 =
Fik 0 [
wE 0 [A]
£H 0 g
Vet 0ME
FI A= 00 %
Ul 0 [
Fi& 0 [
| 0 [[
£H 0 [A]
INET 0 [
FIRAZE 0.0 %
=11 85 74 84 97 82 73 75 83 83 78 80 92 986 [g]
e 236| 199| 233| 26| 220/ 203| 202 231| 256/ 232 230 247 229 %
FIFHRIEE R E(H) 30 31 30 31 31 30 31 30 27 28 29 31 359 H
FIFAEHZ(R) 29 29 30 30 27 30 27 29 27 27 28 28 341 A
FIHE (%) 96.7) 935/ 1000/ 968 871 1000 87.1] 96.7] 1000] 964] 966] 903 95.0%
*FIATTRERIZ =1~ A DOMEEH x FHESRH x B9 (GFHL F&. ")
(27HME~318M) 4% (B %)
*FIATRREBH =1 ORERX(B—BERY) x =X
(27BfE~318RE) 4=)




TH5Q202)EE FAKRHBEE(EH) XEH

(Al#gE1-1)

A E 4 | 58 | 68 | 78 | 88 | 9B |10B |11 | 128 | 1A | 2B | 38 | & &t

F A e gEE1 £ ([=)) 450 465 450 465 465 450 465 450 405 420| 435 465| 5,385 [@

% R 2 1 2 2 2 1 1 0 2 0 1 1 15 @

B F& 2 0 1 1 2 1 1 0 3 0 1 0 12 [a]

5} = 1 0 0 0 0 0 1 0 1 0 0 0 3@

GR Ey=] 6 2 3 8 5 3 3 2 5 2 5 2 46 [@

;l|, /INEE 11 3 6 11 9 5 6 2 11 2 7 3 76 [

A= 12.2 32 67 118 9.7 5.6 6.5 22| 136 24 8.0 32 56 %

Ll 7 5 6 6 6 6 4 6 5 6 6 6 69 [

£ | & 4 5 5 5 5 5 3 4 5 4 5 4 4@

51}f ®wHE 8 7 8 8 8 8 8 7 1 11 10 12| 106 [

& £H 8 5 4 4 4 4 5 4 5 4 4 4 55 [@]

= INEH 27 22 23 23 23 23 20 21 26 25 25 26| 284 @

F A= 300 237| 256| 247| 247| 256| 215 233] 321 298| 287 280 211 %

LS| 10 8 14 12 11 10 6 5 4 9 8 12| 109 =

= & 9 8 8 7 11 24 10 15 9 11 12 14| 138 [@

5} ®HE 8 9 8 8 7 7 13 6 6 5 5 6 88 [

& Eg=| 0 0 0 0 0 0 1 0 2 0 0 0 3

= INEt 27 25 30 27 29 41 30 26 21 25 25 32| 338 M@

FIFAZE 300] 269] 333| 290 312 456| 323 289| 259| 298| 287 344| 251 %

FEIT 8 5 5 4 4 3 4 4 6 4 4 5 56 [o]

5 | F& 10 10 8 9 8 7 7 9 7 6 6 6] 93m@

l | 8 9 12 1 8 8 9 11 7 10 9 71 109 [

= 25 0 0 0 0 0 0 1 0 1 0 0 0 2@

= INET 26 24 25 24 20 18 21 24 21 20 19 18] 260 @

& FIF = 289| 258] 27.8| 258| 215 200| 226] 267 259| 238| 218 19.4 19.3 %

=] 57 8 7 6 5 5 5 4 4 6 5 6 9] 70m

| = Fik 9 9 8 9 10 8 7 17 1 17 18 15 138 [@

== | i b 15 14 18 18 14 13 15 17 13 14 15 14| 180 [H
=

= E=] 0 0 0 0 0 0 1 0 1 0 0 0 2 [

= INET 32 30 32 32 29 26 27 38 31 36 39 38| 390 [EH

FIFEZE 356 323| 356| 344| 312| 289| 290 422 383 429| 448 409] 579 %

il 0[E

Fi& 0 [=]

g 0 [H]

£H 0 =

INET 0@

FAE 00 %

a0l 0 [=

Fi& 0 [g

®HE 0 [A]

«H 0 [f

INEt 0 [=

MAE 00 %

;0] 0 =

Fi& 0=

wHE 0 [H

2H 0 =

INET 0@

F R 0.0 %

&5t 123 104 116 17 110 13 104 111 110 108 115 117] 1,348 [

FIFAZE 273| 224 258| 252| 237 25.1 224 247| 272| 257| 264 252 25.0 %

FIFHRIBE R 2U(H) 30 31 30 31 31 30 31 30 27 28 29 31| 359 A

FMABZH) 30 29 30 30 27 30 27 29 27 27 28 28| 342 H

FIFAZE (%) 100.0| 935| 1000| 968 87.1| 1000| 87.1 96.7| 1000| 964 966/ 903 95.3%

*FIATTREE=1-ADOMERH x EHHERH x X9 L FE. ')

(27BfE~318R)

(27HRE~318FE)

4365)
+FIRTHEN=17AOMERR(B-REER)

(B %)
X EH

(4=)




SHSFE MM —Z0) -4 FRRRRES

Bll#E1-1

4H | 5H | 6RA | 7H | 88 | 98 | 108|118 (128 | 18 | 28 | 3R | &%t

FIFATIEE B £R 30 31 30 31 31 30 31 30 27 27 29, 31 358
FIFATTEEEER 360| 372 360 372| 372| 360| 372| 360| 324| 324| 348| 372| 4296
FIFAEEL 112 99| 110| 120| 106| 107| 128| 118 98 93| 104| 114| 1309
*Ufﬁ;ﬁ: 31.1%| 26.6%| 30.6%| 32.3%| 28.5%]| 29.7%| 34.4%)| 32.8%| 30.2%]| 28.7%| 29.9%] 30.6% 30.5%
5ﬁﬁa§§?ﬁm 734| 626| 698| 758| 676| 658| 713| 711| 542| 561| 676/ 752| 8105
FIFREZ
5 ARt
FIFEEL 0 0 0 0 0 0 0 0 0 0 0 0 0
(BN
FIFE 672| 701| 736| 776| 806/ 756| 680y 606/ 497 572| 583| 714| 8099
B BFRISH
IR 0 0 0 0 0 0 0 0 0 0 0 0 0
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